HMQ &% — =M%

1525 BIER - STHEBTAS LRI 2R R
4525

@ H2EEIR

@ AREXREHA

@ LK BEME

HIER
ER ET4S (mm) 225 732 44 @55 770 292 125 2160
1EBHR B
fERTREE =R
EEENRE kgf/ < (kPa) 2~ 8(200~800)
fERREEHE °E 5~80
BT BT m| 25 | 4 | 6 8 | 10 [ 13 | 15 | 2
peipey BHEAS R
eI N| 120 239 377 731 1195 1814 3649 6011
i eI N| 157 265 431 810 1306 2266 3927 6434
BETHER k| 0.8 13 22 41 6.6 115 20 328
7 - BBSRS s| 0.025 0.03 0.05 0.1 0.2 0.25 0.3 0.35
s mm +0.01 +0.02 +0.05
TREHAEOC M3X0.5P M5X0.8P PTL/8 PTL/4
WaEE MiHEa
i S AR 5 kgf/cm B » SET B SFRELERT) o
HE- AR e HMQ55-P-8G2-N82
T 9 © 060 0060
1 | K37 | &% (mm) 2 | fsR TERIEAE 3 w74 eSS E 4| R | RERKE
25 @25 #wmaoeh | AMITERMEAR Erkrd PN 1 Ft 1 1@l
32 232 8G CS-8G 2 Wt 2 18
44 044 8B CS-8B
55 @55 P TREE 5| sk | imIERIRE
70 @70 P |IooR | RMimIRRER
e——
19225 519225 p %f é N8 NS-8
BRPS2L4 P,
160 | o160 5-86 coas | 6] st [mmmmme
1 Ff 1 1@
2 Fft 2 &
¥R P8-2.38
S8




HMQ &% — =M%

AEEEE - THMER - EER - BER O RIREHR CHELIC.
RER4E 1R BR
@ B (kg)
(19 HMQ 225 0.15
20 HMQ 232 0.30
3 HMQ @44 0.58
HMQ @55 0.87
J HMQ @70 1.47
15 I L HMQ 292 2.69
5 @ 0 HMQ @125 | 5.8
0 HMQ @160 |  9.73
i N EEAESES  BRE
Z=#) £5%
THMRR
RS 15H ME RER 15H [ZL
01 *88 Bas 13 AL 8R4 Beil
02 Nz RS 14 EERE (g1
03 BEEs ae 15 BEEIREH e
04 mh#E T 16 AR R R LR EaE
05 EE #as 17 R )
06 Wi #es 18 BEREE Fi58
07 %5 wa 19 BEREH a2l
08 Histh wLE 20 ESE Pt
09 788 X 2R it 21 Gk e
10 EESEES [l 22 TR LEfT 8844 A%l
11 &E O IR [l 23 32350 e
12 BEER O BB il
BEXR O BIREHR "
B 1 mm
b= 9 758 X BUIR 9 BFIEE | 10 FEER 10 JEE X BUR 11 %35 0 BUIR 12 JREELR O BUIR
R\ e 1 1 1 1 1 1
HMQ 825 | 7.65x1121x1.78 - - 20.35x23.91x1.78 @26 x B1.36 @4x 01
HMQ @32 | 10.82x14.38x1.78 - - 28.3x31.86x1.78 9345 B1.2 @5x 01
HMQ 244 12.37x17.61x2.62 = PSD-44 = @46 x @1.5 26x @1
HMQ @55 13.95x19.19x2.62 = - 48.9x54.14x2.62 @56.87x B1.78 28x @1
HMQ @70 = MY-16A = 63.1x70.16x3.53 @72.75x B1.78 ?10x @1
HMQ @92 - MY-20A - 85.32x92.38x3.53 @94.97 x @1.78 @10x @1
HMQ @125 | 32.99x38.23x2.62 = = 117.07x124.13x3.53 @126.67 x ©2.62 @12 x @1
HMQ @160 | 40.95x46.19x2.62 - - 152x159.06x3.53 @164.77 x ©2.62 @12x @1

6-14.186

HDQ
Ti1
e

HDQT
=M
R Ze A

HDQM
=MBsEER
12

HMQ
=M
AR

HMT
Rz
=T A 5

HDL

P L2
(FAIBL)

HDT

Pl 02
(A )

HDF
B
FATHARIE
()

RM
pok]
2202

RB
pok]
AT



HMQ R5 — = Mgk
RSB

REFHHEE

(_HMQ 25 - OPEN )

B 73: kefjen?
= 180 T~
R 157~
#£ 120 ——
2 — 122 \99 . |
60 I — s
0
10 30 50
EFERE L mm
(_HMQ 32 - OPEN )
400
B 73: kgffem?
= 300 —~
E 200 265 —— ~——7
= 200 —T— 5
100 T 143
3
0
10 30 50

BIFRARE L mm

(_HMQ 44 - OPEN )

800
BE77: kgf/em’
Z 600 —~
= 431
4 400 —~——7
=8}
- T~ |
322
200 — —
|
3
0
10 30 50

BIFERE L mm

(_HMQ 55 - OPEN )

1200
~_ BEF3: keffem’
= 900
R 810 ,
#r 600 —
2 671 ——s>
B 532
300
3
0
10 30 50

EIFERE L mm

200

150

BN N

360
= 270
i 180
=8}

920

600
Z 450
# 300
=8}
8

150

1000
= 750
R
i 500
=8]

250

6-14.187

(HMQ 25 - CLOSE)

~_ 273 kgf/em’
129~ ~—,
_ 99 \78 s
—
10 30 50

EFERE L mm

(HMQ 32 - CLOSE)

~ B277: Kkgfjem’
239 —~—
—_ 185 —
s — 140
| E—
3 —
10 30 50

BIFRRE L mm

(HMQ 44 - CLOSE)
~ BE77: keffem’
377 —
_ 295 \2305
B
10 30 50

BIFERE L mm

(HMQ 55 - CLOSE)

273 kgf/em’

730 ~——,

5 — |

m

—/ 490
—_—

—3

10 30 50
BHERE L mm



HMQ &% — = MR

KEFHEHEE

CHELIC.

REFHHEE

B N

BN N

BHH N

BFHH N

1800

1350

900

450

3000

2250

1500

750

6000

4500

3000

1500

10000

7500

5000

2500

(_HMQ 70 - OPEN )

\ Ejj : kgf/cmZ

1 306\\\ 7
1122

5 — |
890
\\?

10 30 50
EIFERE L mm

(HMQ 92 - OPEN)

~ BEES: kef/em?
2266 ~_
% — |
=
— 1634 [——>5
— |
10 30 50 70

EIFERE L mm

(_HMQ 125 - OPEN)

~ Ié?]: kef/cm?

3027 T~

7—]

3088 TT—nu_ |
— |
— 2347 55 :7

10 30 50 70
BHFERE L mm

(HMQ 160 - OPEN)

~ Ié?]: kgf/cm’
6438~ ~—_
7
- mm .
3
10 30 50 70

EIFERE L mm

B N

BFA N

BN N

6-14.188

3000

2250

1500

750

6000

4500

3000

1500

10000

7500

5000

2500

(HMQ 70 - CLOSE)

\ Eﬁl kgf/cmZ
1195 ] ~,
955 —
T | s’
g1
10 30 50
EFERE L mm
(HMQ 92 - CLOSE)
T
~ B277: kgfjem?
1817~ \\ .
1478
\\%m ;
.
10 30 50 70
BIFBEE L mm
(HMQ 125 - CLOSE)
lé?]: kef/cm?
\
3649~
2865 I
— % 5
1702
3
10 30 50 70
EFEE L mm
(HMQ 160 - CLOSE )
éﬁ: kgf/cm’
6011~~~
4602 —
— %\75 B
———— 2920
3
10 30 50 70

BFFERE L mm

HDQ
A7
R

HDQT
=M
R ZE A T

HDQM
=R R
AT

HMQ
=m
e Az

HMT
Rz
=T A 5

HDL

P L2
(FABAL)

HDT

Pl 02
(A )

HDF
B
FATHARIE
()

RM
pok]
2202

RB
oLy
A



HMQ &% — =M%

FBRARYER « REEERR RALAT=RE
EEN B N R B R
EF;ER BISR EI1E (mm) | B/\ENEES (kgf/cm?) S EBaF, (mm) BREEEFT (N)
Open 157
HMQ 25 25 2 6-M2.5x0.45Px6.5dp
Close 129
Open 265
HMQ 32 32 2 6-M3x0.5Px8.5dp
Close 239
Open 431
HMQ 44 44 2 6-M4x0.7Px7dp
Close 377
Open 810
HMQ 55 55 2 6-M5x0.8Px9dp
Close 731
=R
Open 1306
HMQ 70 70 2 6-M6x1.0Px12dp
Close 1195
Open 2266
HMQ 92 92 2 6-M6x1.0Px14dp
Close 1814
Open 3927
HMQ 125 125 2 9-M10x1.5Px19dp
Close 3649
Open 6434
HMQ 160 160 2 9-M10x1.5Px19dp
Close 6011
5 BMEEHBEES 5 kgflem?  RTBISKRFRELRI S -
ZRETEEN
1 {EAAREETL A 2. {5 AR ERIRALFL

_

&

1

i

1

i

6-14.189

||.[i

/S

5)

N

\

B ——p




HMQ &% — =M%

SMERERRT CHELIC.
HMQ 25~ 160 EMNEEMIBBAE
A /~HMQ 25~125 " N
——’—r‘— G,EAFf0.0l
B - | —
.
\ \ 6-AG 6-0AE 2
R
09
SEY, 3-H7LG
i -
= & 3-1@FLH
reo ot N /
H
== -
T—E——a .
- « ‘@’ | 24
- = @ o
\ > =
N 2-0
EERAL - N _
ENEEMEBBRAE
A /" HMQ 160 b N
S EHRIL -
‘ 9-AG m a
-, —j—r ::) 2
i 4
o
<<
=)
\
\ J
BEfiI:mm
ﬂ%mﬁABaczoEFGH|JKLMN0PQRST
HMQ 25 | 122 | 6.8 |0.3| 2.8 | 147 |345| - |@6x35dp| 3.2 | 3.3 | 272| 22 | - | 14 | 18| M3 |63 |17.7 |07 | 18 |215
HMQ 32 | 156 | 10 |14 45|207] 44 | 6 - 33 33| 34 | 27 | 235| 17 | 21| M5 |88 207 | 1 | 21 | 27
HMQ 44 | 188 | 12 |06 6.1 |21.7] 56 | 9 - 51| 4| 433|343 |288|215| 22| M5 |85|265 | 1 | 22 |325
HMQ 55 | 228 | 14401 81 |26.7| 70 | 11 - 68 | 5 |493|375| 31 | 248|26| M5 | 9 |293 | 1 | 26 | 405
HMQ 70 | 27 | 17.8|0.9 109 32 | 90 | 11 - 68| 6 | 593|475 41 | 295| 30| PT1/8] 10 | 353 | 1 | 30 | 50.5
HMQ 92 | 348 19.4|06|13.6]| 40 | 112| 14 2 85 | 74| 67 | 552|467 32530 PT1/8] 10 |383 | 1 | 30 | 63
HMQ 125 | 42 | 26 | 0 | 15 | 50 | 147 [135| - 85| 9| 80 | 59 | 49 | 39 |40|PT1/4]12 | 48 | 1 | 40 | 81
HMQ 160 | 45 | 28 | 0 | 20 | 67.5| 185|165 | - 105] 12 | 101 | 80 | 68 | 54 | 50| PT1/4| 15 | 62 | 1 | 50 | 100
B i mm
Y v w X Y z AA AB AC AD AE AF AG | AH
Bk
HMQ 25 24 | R255 | 36 M4 | o2x6dp | 15 M3 6.5 2 4 228 | @4 | M25 8
HMQ 32 | 295 | R32 45 M4 | @3x6dp | 20 M5 8.5 2 4 233 | @5 M3 12
HMQ 44 | 345 | R375 | 56 M6 | @4x8dp | 28 M5 7 3 5 043 | o6 M4 13
HMQ 55 43 R46 70 M8 | @5xl6dp | 33 M5 9 3 5 253 | @8 M5 16
HMQ 70 53 R57 90 M8 | @5x16dp | 40 M5 1 4 6 263 | ©10 | M6 20
HMQ 92 66 R70 112 | M10 |@6x20dp| 53 M5 14 4 6 263 | ©10 | M6 2
HMQ 125 | 849 | R87.5 | 147 | MI0 | @6x20dp| 71 | pTi/8 | 19 2 7 2103 | 14 | M0 2
HMQ 160 | 1058 | R110 | 185 | MI12 | @6x20dp| 90 | pT1/8 | 19 2 7 2103 | 14 | MI10 2

6-14.190

HDQ
Ti1
e

HDQT
=M
R Ze A

HDQM
=MBsEER
12

HMQ
=/
A 3R

HMT
Rz
=T A 5

HDL

P L2
(FAIBL)

HDT

Pl 02
(A )

HDF
B
FATHARIE
()

RM
pok]
2202

RB
pok]
AT



HMQ &% — =M%

REREERERSE RALA] R REE
TEREA A
Bfi:mm o
s A B d D
Rig® -
HMQ 25 8 21 3 325
HMQ 32 10 27 4 405
HMQ 44 10 32 4 50.3
HMQ 55 12 40 4 57.3 o
HMQ 70 12 50 4 67.3
HMQ 92 15 62.5 4 76.8
HMQ 125 20 74 4 2
HMQ 160 24 98 4 110.9 e
@ @
REZEBRES
%? NS-8
CS-8B/CS-8G
= FE &t E RFER 2 8% F B E & E
REREERARE L &EEBHMm
BT eSS A LB (R U FE 28 jeTiE
FAYAENE 2 #E[E ; MRk I5 S BARE 2 FE @imm—l el
EBABOSMmMERZERE. =
BRI &
CS-8G Cs-8B BERE)
\
& ) = ;E? BREER !EM’EEE(F)! BEER)
C:E 2() L%E@F;fﬁg

&

{HEHERE :DC 5~30V

{FFHEE : DC 5~30V

6-14.191



